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Yy = €+ CX + Cyx2 + ¢,x3 D Data
X Y
0 0
OoooOo0oOooOoOooOonoa 0.1 0.1002
0.20 0.2013
0000000000000000000 0.3 0.3045
— 0.4 0.4108
x=Data.X QOQQOOODOOO0O0O00000O0O0 0.5 0.5211
y=Data.y 0.6 0.6367
h=index(x) 0000000000000 8'5 8'533?
m=1..h o000 0.9 1.0265
n=1..4 1 1.1752
a, ,=0 0000000000000
A=create matrix(a) 0O OOOOCODOOO
Y=create matrix(y)
OoooOooooOooOonoa
0000000000000000000
for i =1 to h step 1) 00000000000000
W&_fﬂ;ﬂl‘lto‘”tepl) ~ 0000000000000000
i,ji~ ™
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Y = Ac
uobobA0bO0OO0O00 AUODO0OUODcODOD0DODODODbDODbDODn
c = AY ERERERN

-0.0001434
1.0045726
-0.0201107
0.1906954



